A
m_A
ol

S T
gFell

AL,

o|
Tio

£ 2H = A

<
ol

._.,.._..u
P

A

.

-

K

ul

0

.

ul

._._“_..u
K0

._.,.._..u
P




16 85
O 94
0.85 — 85 +5 17

1005 20




o1
J
)

j

@ 8 @ 12 ®)16

@ 3

itk 249} 48 9]

2}, 249} 489] Ao

24
2
6

2

N 2x2x2x3 =240},

et 242} 489]

8, 12, 24 °|tt.

T 249 ¢ 1, 2, 3, 4, 6,




2 AU

Hi

= 5

<F
gl

oA 71eF

Nfo
<}
TH
~

—_—

]

B2R7110 9

4.

2 4714

9

7 —_—
01010

3

L
101




11

2.~
21

)
14’

42

ul
RO

. - 42

14,21 o] J2Fu45 F




15
62

@

11
55

3

11
95

1x11

5x 11




% A2 A7 2L B4 AR oj A
74

48 263
@ %) ® (73)

@2 2RE & HRoU 2AE 7=
O

FPoBE A7 Z2 257t ottt




2ls
jn
18
i
2
T
o,
e
>
%0
rr
fr
>
i
ko
4
k1
Iru
>
o

42 60 Z (o] ' =2 ' o
o} l Z 1;H_:_o1:/\ _:F_ =3 T -:F— 5
| 0 = = = 'Oq
| K ] ]_Oq 0] ILOoEAE o
lz]ljl' "‘"l. q10 T I‘ __§429—] 60—;| —1/\1
X E1ie) 7 60 =] e re) 1 2 3 6
b 9’ b




9. 0182 7|OFRSE Lehd o, 2Rk Bape] 3 oA S,

> E

> =k 59

18 18 +2 9

100 100-2 50
594 50=59




of

il d
Hf

Ton

0|

QU7

al

i

ojn

olJ
RS
J
T

<+
il

jald

Ho

® 144

@)48 ® 72 @ 108

D 36

T

e

Ho

<

,_N.ﬂ

T

™

g

b+

Y

<

w_L

0

<
LY
N AF
M w
W 4
Mo W CEREE
o om o
gy B e
ik = ok

gyt

oA 3x3x4=36°|EZ 36,72,108,144, - -




11, 2E7110 9 A2 ToA 7IefdaE 2% 2 HdU71

> & 4l

1 3 7 9

= 2L 2 24494t
10710710 10 HeHe




12. F 59 271 Hlaste] O ¢hofl g9 >, =, <E HIEA I8 A2
ol AJAY7?
(1) 2 047
T
2) — .
(2) o5 Q038
©<,< @ <, = A <, > @ >, > ® >, <
9 9%x5 45
]_ _—E D =V = o
( ) 20 20% 5 100 s
16 16 x 4 64
2 —_— = = —— = U.
( )25 25 %x 4 100 e




SHA 2.

=

<F
il

—_—

of| A Bm7} 56 ¢

Nlo
<
T
ol
N

T

g I 3717}

13.

24
56

RO

A A




14.

[)A=ELS
—FET

= e

 on

v VvV Vv v Y
0
iy

16
el 16
el o3

48 48+16 3

64 64+16 4




2 o419,

& 71FER Uerd o 21

6_0
[arR )

A

ul
RO

A

&
5

36 =12
60 + 12

36 _
60




A 2.

:TL

E_E
<
il d

—_—

oA Bm7} 35 ¢

No
<}
il
ol
NIl

T

15
71 2} 3717}

16.




17. 9% 317 5t AFet A7k upal 98 242t

7} o wol nhi&U7}?

L oL v

[SAU

A3} F3)7F vhA 9] g HlwstHstEE F 242 £
27} eEyH.

et £ 240 ZRE HaguieRE FRst] £ 249 2
71E Blaste] FAI.

F 25O 2RO HaFuleE 5x T =35 YU

. 4 28 12 2 4 12
B2 sedqud1s =12, 212 =12 Quep 13> 2
L

35° 7 7 35 7
wzbA A7t ASRt o Be S48 ohag




